&8

CHDEBPHE 1TATBERYDOCHEHEE HwERE=E BEH=
ROEE 35,166 t ROEE 857 g/ N H ROEE 1,525 t REE 30, 168 t ROEE 4,338 t
RIEE 33,908 t RIEE 830 /A - H RIEE 4,315 t R3EE 29,213 t R3EE 3,675 t
ERE A 1,057 t ERE A 210 t ERE A 055 t ERE A 663 t
S A 36 % R2EEBRILE 12.9 % B A32% B A 153 %
[ RIFEEZRILE 12.7 %
CHHHEDRNR
BT CH L CH A CH ARl A NPT Y - 2ri VAR El RS EERH 15 o o et FREELE
ROZEFE | 27,281 t ROZEE | 1,554 t RVEE [ 2,193 t| |[REE 975 t | [R2EE 237 t| [REE 205 t | [R2EE 800 t ROEE] 1,782 t| |RERE 12 t| |[REE 2 t| |REE 3 t
" RIEE | 26,628 t || |[[R3EE | 1,232 t R3EE | 2,051 t| [RIEE 983 t | [R3EE 260 t | | RSEE 267 t | [REE 763 t ROZEE | 1,686 t| | RBERE 12 t| [RAEE 24 t | [RBEE 4t
ER=| A 654 t ER= | A 323 t ER= | A 143 t | | BR= 8 t| | BRE 20 t | | BR=| A28 t||[BERE| A 46 t ER=| A 9 t||ER= Al t|[EBEE Al t| [ EBEE 1t
T EZE | A 24 %|||[ 215 [A 20.8 %|||[ EIE | A 6.5 %| | =& 0.8 %| [ Z& 10.1%|[ 215 | A 95 % ZE | A5 T % EE | AL 4 %|| ZE | AALL %|| ZE | AL4 %[ BS 52.8 %
JRRRIE (D Y\ COERME GER) O RRIME (HED T e T .
i = — E i RS i ,’ R (BERE - EH#E - 250 \‘
i 1 i i ! !
: FHE | [ EA mEE | | vty | — BX=H SERET It E 2EE i E
| [R2FEE | 29,189 t |1 i[ R2EE 0 t]ii[ER 53 t i I &ERIE 234 t | [BEIE 705 t | [BERIE [ 263 t | |[BEIE [ 268 t | [BEIE [ 689 t !
| [RIZEE | 28.431 t |1 i[RIEE 0 t|:i[B®ICH 782 t |i | MRS 252 t | [BROT CH 230 t !
P TEE | A 757 t|i [T 0_t]: 1 [FF]: M3t | R 0 t| [EicH Ft !
[ & [ A 26 %[ BE %] 1 ] | [R™TSH | 1.67/4 t EhZ 67 t] |
N e R | E !
E,‘Z n/\ f:’~ ===== S /—----j{----;-':---\\\
/ =&AL 5 \ BIElL (EKREH) " hfELEE  (BEH) ]
KIREI1Z99A 5 O REEE=E i
FHIRE §§4-5 e |
; 'E r-”ﬂ_( ji i 'E HE H _;,,,!u!,u,u,!,!,,!u!,!,,!u!,!,,!u!,!,,!u!,u,u,!,!,,!u!,!,,!u!,!,,!u!;!,,;u!,u,u,!,!,,!u!,!,,!u!,!,,!u!,!,,!u!,u,u,!,!,,!u!,!,,!u!,!,,!,u,u,u,u,
ROZRE| 3.716 | ([RCEE] 168 (|: i[ROEE[ 080 t]! AR
RIZEE | 3,179 t| i[RSERE 23 t]: | R3EE 782 t E
BHE| A3 t| ([BAS] A4 t|: [HEAS[ A 18 t]i HXCH B %] AT Ay R b R
[ & [A 145 %|) [ 216 [A 271 %|; [ & [A 20.2 %] —) R2EFE 273 t| [RERE 71 t| [RERE 254 t| |R2ERE 282t
\ g DU s RIEE 234 t | |[R3EE 705 t | [RREE 263 t | | RAEE 268 t
I EB=| A 38 t]||EBR= A6 t|| ER= 9 t| | EE=] A 14 t
e [ EE (a7 % [ HE [ A00% [ B 35 %] | 2 A 438 %
IR & El R BB 1% R bz et
RZEE 261 t RZEE 1,782 t szﬁffg 12 t szﬁffg 26 t
= N RIEE 252 t | |R3FEE | 1,686 t | | ROEE 12 t | [RIEE 24 t
[ BRSO ERE A9 t||[EFRE| A9 t||ERs Al t||[ERs At
R | Z[& | A 35 %|| 215 | AbG4d%|| Z& | AA4DL %|[ 215 | A5 4 %
IS EX - BEK i C A (PRENE) Z Db
ROEE 622 t ROEE 168 t| | RREE 0 t| |R2EE 82 t | | RREE 3t
RIEE 496 t RIEE 123 t | | R3EE 0 t| |RIEEE 53 t| | RBEE 2 t
EE=]| A 126 t BEE|] A 46 t ER=E 0 t BEE] A28 t ER=E A1t
\_éué A 20.7 % | ZIE A 211 %| [ EI& %| | 215 | A 346 %| | E1& |A 243 %
%




